Installation Instruction Sheet

092923

CAT. No.: L196-S1/LD196-S1 / L296-S1 / LD296-S1
(PENDANT MOUNT)

CEILING REF. J

MOUNTING PLATE ASSY.

3/8" IPS SCH. 40 ALUM. PIPE
18" L. PENDANT STEM \

3/8"IPS WASTE NUT

LED DRIVER

CEILING J-BOX
(BYEC)

MOUNTING SCREWS (BY E.C.)

—
ALIGNER BALL SWIVEL

Fmm====f======x
t ' il
Il 1l
I ‘ [l
W [ !
1L J

W/ STEEL CANOFPY ASS'Y. (F/IN 54-3004)

A\

7-718"

M)

(Fastened to houeing)\ ‘
+
! )

¥

N

FRONT / SECTION

INSTRUCTION STEPS:

1. Turn off electrical power supplied to housing.
2. Feed electrical wires thru mounting pipe stem.
3. Attach stem to waste nut on top of housing.

4. Attach stem to the ball swivel canopy.
5. Attach stem/ceiling mounting plate to junction box, using #8 screws (by E.C.).
6. Make electrical wire connections.
7. Slide canopy cover up & attach to ceiling mounting plate.

8-32 X 114" 8.5, PAN PHILLIPS
HD. M/ SCREW W/ 5/8" L.
SPACER & HEX NUTS (2 PLCS.)

EXTRUDED ALUM. HOUSING

6-32X5/8"5.5. FAN
PHILLIPS HD. M/ SCREW
& #6 SPEED NUT (2 PLCS.)

L .040" THK. WHITE ALUMINUM

LED CHANNEL

LED LIGHT STRIP

1/8" THK. GREEN
OR RED ACRYLIC

T-190-6" EXIT TRIM
(.050" ALUMINUM)

190-HINGE (4 PLCS.)

L190 SERIES = 3-7/8"
L290 SERIES = 2"

END / SECTION

NOTE:

*THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE APPLICABLE
INSTALLATION CODE BY A PERSON FAMILIAR WITH THE CONSTRUCTION
AND OPERATION OF THE PRODUCT AND THE HAZARDS INVOLVED.

* CONTACT WITH ACID-WASH OF ANY TYPE TO ANY SURFACE OF FIXTURE
WILL/MAY VOID WARRANTY.

COLE,..,

2560 Rosemead Blvd. So. El Monte, CA 91733 . (626) 443-2473 . Fax: (626) 443-9253




